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Rewrite the Sentence

Rewrite the sentence using a distributive to replace the words underlined.

1)
2)
3)
4)

Sam and Katy are not vegetarians.

You can choose chocolate cake or vanilla cake.
| want the entire group to be punctual.

The individual animals in the zoo are cared for.

5) Sally and Peter are not happy.

6)
/)
8)

One of the two flowers are still blooming.

50% of the students want to change class.
The individual people in our band are good at their instruments.

9) The two dogs are very sweet.

10)
11)
12)
13)
14)
15)
16)

17)
18)
19)
20)
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None of the two vets are free.

Who ate the whole cake?

Only 50% of the class passed the exam.

| couldn’t finish my entire homework, sorry.

One of the two computers is broken.

The individual singers in the choir are very good.

The overall project was very good because individual people played their

part.

The two bananas have gone bad.

One of two teachers will be free at 4pm.
None of the two dogs will get dinner tonight.
The whole dinner was terrible.
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